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I compact

 Array#compact I[C{El 7= #EE =T DR
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» def compact(ary) ...end EEFELT ... 2i8H B

 Array#compact Z{FI DX 1E

o EI{EDHI
compact([]) #=> |]
compact([1,nil,2]) #=>[1,2]
compact([nil,nil]) #=> (]
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I compact DE% (1)
 find_all Z{£ -
I def compact(ary) . rler}eg‘? . e:‘%&z 2
ary.find_all {|v| v !=nil }

end
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I def compact(ary) : \rﬁt< IC << v TTIIAT
ret =11 . Array#push &£
s FBEFRERITIE << &
ary.each fiv ;EEE LTULNMELN?

ret << vifv !=nil
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ret
end
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I def compact(ary) . ?eatch_ %*[d]l:c_%n 3T
ret =[] LW (BBOHTEARW)
ary.each {|v|

ret += [v] if v = nil

]

ret
end



I ER(T) RUIEERTR

c [BEZIRG IEERTIBDIEIFED

I » 100 %R 9 EE#K
def ret hundred

100
end

« 100 R L T nil 23R 9 A
def prt_hundred

p 100
end
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a=|[1,nil,2]
p a.compact #=>[1,2]
P a #=> [1,nil,2]
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def compact(ary)
ary.delete(nil)
ary

end
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print "processing...¥n"
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—ac<(mn)—n+1 ifm=0
- ack(m,n) = ack(m-1,1) ifn=0
- ack(m,n) = ack(m-T1, ack(m,n-1))  otherwise

- FAEDEDH

I 7y h—< B ack
|

- ack(0,0) #=>1
- ack(1,1) #=> 3
- ack(1,2) H=> 4
- ack(2,1) #=>5
- ack(2,2) H=>7
- ack(3,4) #=> 125



I ack MEXE
def ack(m,n) )'FE"(["WE/J FICTINT 5
I If m == —R&E<
o . return ZE->TER L
elsif n ==
ack(m-1, 1)
else
ack(m-1, ack(m, n-1))
end

end
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